

Name _____

Missing Addends

To find the missing addend we must subtract the part that we know from the total.

Example: $4 + \underline{\quad} = 13$ $13 - 4 = 9$

Solve the following

a) $\underline{\quad} + 8 = 15$

b) $14 + \underline{\quad} = 30$

c) $12 + \underline{\quad} = 34$

d) $25 + \underline{\quad} = 92$

e) $17 + \underline{\quad} = 83$

f) $27 + \underline{\quad} = 61$

g) $13 + \underline{\quad} = 47$

h) $29 + \underline{\quad} = 35$

i) $\underline{\quad} + 34 = 76$

j) $\underline{\quad} + 58 = 72$